Il "him her them' is written as de ke' and

do him why as ‘ne 1K ir' and ‘are they do’ as
sh fu lk', then do' is wrillen as
|A) e Bl fu

) 1k () s

2. Which one of the following is
of Cabinet Miasion ?
(A) Lord Patnck Lawreno
(B) Sir Stalord Crippa
(C) A. V. Alexander
D} Mount Batten

nod & member

3. With respect to armed police, an Inspector/
Sub-inspector commands a
[A) Section
{C) Battalion

(B) Platoon
8] Company

4. From the given answer figures, select the

one in which the guestion figure is hidden/
embedded

] %

=

i) X L)
v
c dj S
(A) d B) a
(C] b I

. The HDOI ranking of India according to 2020
UNDP HDI report is
(A] 136
(C] 131

6. Out of 6 boys and 4 girls, a group of 7 is to be

formed, In how many Ways can 1.hi_a. be done
if the group is to have a majority of ioys.

(A} 120 (B} 90
{C) 100 D) 8O

(B) 130
(D) 182

7. Whichof the following is a certification
mark employed on agricultural
products in India by the directorate
of Marketing and Inspection ?
(A} AGRMARK (B) AGMARK
(C) AGPMARK () None of the above

CMES - 82 Eﬂf

1.~ %% him her them' ‘de ne ke' .J!‘il
Ao him why el ne [k ir' , ‘are they do’# ‘sh
fu 1k foren wm &, @ do’ ® fevan s # |

(B) fu

(D) ar

{A)] me
_AC) 1k
4 frcfefaa i e e e | s =LK
() =0k e =itn
By wrd fem
iC) u. . T
(D) wrde dza

wE g amam, v Fifves [ niheE

3.

o mEEEwmE
{A) = (B) =g
iC) wefera D) =

4. i T st A A, w st g faed
sy g i |

a) [N

Ui

(A) d
IC) b

B8] a
) ¢

5. 2020 1AW vadad. i ¥ wER wRe
(B) 130

{,f’ﬁﬁﬁ.m.fﬁﬂt m
[
(D) 182 9

(A) 136
C) 131
6. 6ok s esfedi A T e aE b

" g o et o e & af2 g 6 v

e st 7

(A) 120 (B) 90

{C) 100 (D} 80
T.ﬁnhhaﬂﬁﬂqmﬁﬁmwmm

fafiem e g frafem woamfiem fag 7

(A) AGRMARK (B AGMARK

(C) AGPMARK (D) e B4l 58
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11.

lai‘

14,

L=

:

:{EESMET the followin
INCiL portal of Minist " )
i*fm].rlu‘r'lmrt'd of Central t::?l\r{‘-:;rt[;‘-l-:-:ulr oy v
. It is an online platiorm that aims at
CNgamng the Central Government State
Uovernment, District, Civil Saciety and the
Public in eradicating child labour 10 achicve
the target af child labour free SOy
4. This portal enables the citizens to rajse
a complaint and report incidents of
child labour through effective tracking
and monitoring mechaniam,
(A) Only the statement 1 is correct
|B) Only the statement 2 is correct
(C) Both the statements 1 and 2 are correct
(D] None of the above

B statements about

A typical angiosperm embryo sac, at maturity,
though 8-nucleate is
(A} B-celled
{C) B-celled

(B) 7-celled

(D) 9-celled

The powers of the Panchayat are listed in
[A) 12* Schedule (B) 11" Schedule
(C) 4* Schedule (D) 9* Schedule

Name the State which succeeded in the efficient
implementation of milk co-operatives.

(A) Karnataka (B} Gujarat

(C) West Bengal (D) Maharastra

If you start your journey on 22* June 2003,
what will be the day of the week afler 7 days
of your departure ?
(A) Saturday

(C) Friday
In which year did Napoleon Bonaparte crowm
himself as the Emperor of France ?

(A) 1799 (B) 1802

[C] 1815 (D) 1804

United Nations High Commissioner for
Refugees (UNHCR) headgquarters at

(B Monday
(D) Sunday

(C) Rome, Italy (D) None of the above
1 1 1 3

—3 5= —+h—=7

33+54:135+ s
1 1

(A) 213 & 183

€) 191 (D) None of these
3
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8, = wwn % we sh tem dwem % ()
PENCIL e i it # Freeferfin s o faam #
|, T uw sAtaema st f fare wsa b
T, T BOEE | faen, amiE a s
HAAT A A W ] I e T A oA
qﬁmﬂaaxaramﬂmm? |
. wE it A w8 ware we i
Frmoref) sromveft % s @ are wm ) wE S
o) formrga e foard @ 6 wam = R
TR CGELERE R
(B) Ee HA 2 W
(C) A wa | s 2w #
() T o & wré

9. e uftmwan v s-gfaene o fafire

ufsraend yorrm 8
® (A) 6-sfim aen (B) 7-wifi "
‘m’% (C) A-wifi e (D) 9-wifimm awEn
10, Faran i nfewat Fre gefea # 7
(A) 12 4 sreh ) 11 s
(C) 4 o e (D) 9 91 FEH
1. 7wl & i | fa v 3 e wiee
% =1, 30 T TR |
(A) T (B) T
i) wiras Ime (D) TEwT
12,/ 3T #M 22 99 2003 F A a0 TE T4 8, @0
7 e e A @ 7 % e g - %
ferEm 7 ﬁgr‘-
(A) TR () s gatg
(C) Yy D) HEEw
13, e @9 3 fee 9 = w0 owe W e
<" vife fiem 7
{A) 1799 (B) 1802
(C) 1815 (D} 1804
14, ool ¥ fo i g g (4,09, v 3w )
w1 AT el 7
) e, fagede (B) faeeh, wim
() T, we=ht (D) v & & = =
1 .1 1 .3
15. a‘a+5;']3§+'ﬁ§-?
1 1
S w2y (B) 18
© 191

3

m\ﬁiiﬁi {) "‘
o T
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A projectile can have the same range K for twao
angles of projection. If t, and t, be the time of

flights in the two cases, then the PI'HI'|'-JI"1 of
the two time of Aights is proportional to
A} = B R
. !
) R D —
H]‘

The extended observation of the social

perspective and cultural values of an entire
socind setting 18 termed as

iA) Interpretive (B] Ethnography

(C] Phenomenology (D) Narrative

In a row of girls, Rita and Monika occupy
the ninth place from the right end and tenth
place from the left end, respectively. If they
interchange their places, Rita and Monika
accupy seventeenth place from the right and
eighteenth place from the lefi, respectively.
How many girls are there in the row ?

(A) 25 (B) 26

) 27 (D) Data inadequate

A cube of volume 64 cm?® is cut into two
smaller and identical cuboids. The faces
of dimensions 4 = 4 of one of the cuboids
are pamted with black color and the rest of
its faces are painted with yellow color. One
pair of adjacent faces that do not include
any l:ut:r of dimensions 4 x 4 of the other
cuboid are painted with vellow color and
the rest of its faces are painted wilth black
color. Now each of the two cuboids are cut
into 32 smaller and identical cubes,

How many of the smaller cubes have exactly

three colored faces ?

A} 8 (B) 16
Iy 14 (o 10

What are the pars of each single Carpel 'F"
(A} Stigma, Pedicel

(B) Stigma, Petal, Tepal

IC) Stigma, Style and Ovary

(D) Stigma, Style

MICR stands for

(A} Mechanical Ink Characte

(B) Mechanical ink Code Regdar "

(C) Magnetic Ink Character Reagder
D} Magnetic Ink Code Reader

To which country did Herodotus
€] England (D) Greek

/gl fremn, wwa
21. B ke

(€)
(D) ¥afew o wrg
2/ 3

L () vég
Target Hssc

CMESs . 8

§ (afe o, 0, 6 O IR Sy
& 9 g % WA wm ;

Al Ili B) R :
(c) R (D) F;z BE

17, % QU EwEE W F A vy,

arepfas gedl & fenfa s 5
wE WA R |

(A) SUTEITFHE

(C) v e -fawe

(B) Tamtass
D)

18 egfat ) o of A, fm o e e g

@ Al st ard & ot w B AR A
wreat af ard & srzvoeat @ W b o e

wefwal § 7
A) 25 (B) 26
{C) 27 D) steg s

}é. 64 cm’ 9T & UF U9 0 S B2 g s

I A B | UF T E A HEN TS T T
LERLE R P
ARG F 4 x 4 R A
ﬂm&mﬁﬁﬁﬁhﬁr' p—
T T 7S T @ w2 e 0
ﬁﬁmﬂEEﬁmmwﬁW‘;—-,—-l‘r‘
ﬁﬂﬂﬂﬁﬂﬁi‘rﬂtﬂhiﬂ'ﬂwmm
[A) 8 B 16
Pl (D) 10

- W fire e % o g 0
(A) femn, i
(B) femm, S, duem
(C) femm, wmet st sigm

Fafrwm % e
ﬁhnm&':

#OS1w fo i w7
(A) smfear B) =

Harya

ﬁn&w%mz’wﬂwa&nﬂifm—;g—.h“
4

B

EIoE
b

25.

— I 7 - R = [ = TR S



23. A car travels a distance of 5 km g
the speed of 25 km/hr. It covers the nex
25 km of its journey at the speed of 5 km /i
and the last 50 km of its Journey at the speed
of 25 km/hr. What is the average speed of
the car ?
(A} 40 km/hr (B) 25 km/hr
(C) 15 km/hr (D) 12.5 km/hi

34. Which of the allowing is not an EXPENMOnN card @
(A) Complementary meta] oxile
semiconductor (CMJ 15)

(B) Personal Computer (PC) card
HEJ Modem
D) Video card

38. Sheet erosion takes place on whic h type
of lands after a heawvy shower and the saoil
removal is not rubjl_!,' noticeable but it is
harmful since it removes the finer and more
fertile top soil ?
(A) Hilly lands
{C) Lewvel lands

(B) Coastal land
(D) All of the above

26. Creation of new individuals in unicellular
organisms is by
|A] Fission (B} Fusion
IC) Sexual reproduction (D) Phylogamy

27. Seclect the correct mirror image of the given
figure when the mirror is placed at line AR,

4
JQWEE

B
iA) ROOFPAMETT {B) BOUghAWS!
IC) 13ME9EO0R D) BOOgbAWELI

The first railway steamed off in India from
Mumbai to Thane in 1853 covering @ total

distance of
[A) 34 kms (B) 75 kms
[C) 78 kms (D) 53 kms
Identify the missing numbers.
o 11 13
15 17
I 12 14
Y . ?
?
22, 20 (B) 14, 18
) 12, 13 (D) 18, 15

i *
o

i

CMES - 82

23, A% w25 e i o nfa & 75 feh )
T wH ke ah o F s o fah W
5 fwaht o o i1 A e B st s VR L
50 Taaft w25 fih (e o) nfl & 7 wom & | =T
) e rifa o B

(A) 40 fft feim | 25fefpn T
(GF 15 fahh oy D) 12.5 fehdm A,
24, Profafier 4 fom U TR ok o b 7
t. iA) "Fi"_‘ﬁ:f-{!‘ M - srasmee ol

(#h.mm.a, o)

(B) o= gy () ) =
(C) =ftn
(D) dfean =

A, il Tl % are faen e A ft w fdt & o v
&1 a0 A R s & v o Tee } e e
wivErs & wifE ov e i afirs s
TAR Rk

(A) el wfty (B) =gz #fa ofa
AC) w=aa qfe (D) T aft

}w.” wwE g hat & 7o et = B _
Ak
(A) fomgs (B) wera
i) 4w (D) wfage

27. & m wrgla w1 wh win wifEe qf
. wrmemmABwmmamd
A
].'EWI:;ngGHE
H
A} BOOAPAMET (B) BOOgbIAWC]
IC) 13ME9EDO0R (D) A0OghIWS]
:a{./ v | Teef te 3 1853 A quf & urt 7% g
feah gl ma i ot 7
ia) 34 fad
(C) 78 faht
29. A Hen ® ww W |
._,/ g - 1

B) 75 fh
(D) 53 fadt

13

5 7

%5

e ?Fh
(A) 22, 20 — [B) 14, 18
n (€ 12,13 (D) 18, 15
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wm lﬁ-ﬁ:ﬁﬁ 240@“’?‘ HTA ’. 0

30. If 40 B0 ; 240 kg of rice | 30, af? 40 e
in 1='.Fu;lr:.r:1m i;\nnl::::rm:}nv %a}: will s mﬂﬁ43mmhﬁﬁiﬂfm j
30 persons consume 48 kg of nee Ll
! 3 ™ 6L faa (B) 34 fea
iA) f:;‘ days (B} 3: days 4 4
(C) 4 days (D) 9 days (C) 4 f @ 9
31. Aa per Reserve Bank of India (RBI), Account 31. &% 1% S aﬂ'ﬁﬂ-“ﬁj &-w‘ T
Aggregalor 15 a wﬂﬁ s e !
(A) Non-banking financial company y A T Frefra m
(B) Banking financial company m (B) mlﬁ!ﬂ!ﬂ:ﬂ
(C) Insurance company p (C) i b
(D] Credit borrower company [[ﬂ maﬂm“ﬂ
32. Most important ecologically relevant 3z, w9 B watfs geE w20 o,
environmental factor is / wmw R
iA) Temperature (B) Light jA) TTEH (B) =R
! (C) Water (D) Soil (C) W= (D) 7=
1 33. In pre-independent India who was the first | 33, wewm-Td W & wlsh tan & w51 57 7= 7
to discuss the concept of a poverty line ? . Lok i
' {A) Dadabhai Naoroji (A) TrRmaTE A
(B) Gopalakrishna Gokale (B) TTETEe e
{C) Vinobha Bhave (C) faeran wra
(D) Vinoda Bai . D) faiey wmé
34, ~ ii;;plccial sn;ftware that ;nahlu a4, M EEEm S s
users o read/view web pages and ju T ] ok
from one web page to another, g ha h‘m“hwﬁwmﬂ‘ t
(Al Web server (B) Web browser (A) 3 et YB) ¥ I
{C) Web site D) Web page . (C) ¥ \TE2 (D) 5%
35. The sum of the_ﬁm 20 terms of the series ﬂl/ﬁn f9'13+1'?+.... & yEa 20 v
5+9+13+17+.... is -
(A} 8OO (B) 850
80O
(C) 860 (D) 870 z: 2 nso
(D) 870
36, A man walks from his house towards north 36. i
i TF S W W R e wm T #
; and covers 15,5 km and then tu i -
f ChN, hﬂh?km.HuthﬂﬂHm:lc&mn;ﬂtE: ﬂmlish.ﬁwmmg'hd:
? al Hﬁ*“h“mtm?hﬂ'— o E]
‘ Popan, N | AR R e 7 P
o ai—',im ] (A) 46.5 Feh (B) 15.5 fd
37. Aschelminthes is circular in cre 37. W _ (D) 60.5 :
the k& g - B v b, g
(A) Roundworms B] F
(€} Pinworms : (B) wheat

©) Pia ‘ o "
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Two point charges exeri on each other a foree
F, when they are placed r distance apart i
air. Wh!:n they are placed R distance a J-|_|.1'11
in medium of dielectric conspun K tlln-\.-
exert the same force. The distanee R :::;uul:;

By B
K (B) -
(C) K D) K

39. The teclonic plate Nazca' is Sltuated between
(A) Central America and Pacific Plate
(B) SBouth America and Pacific Plgje
(C) Asiatic and Pacific Plate
- (D) MNorth American and South American Plate

The traffic lights at three different
road crossings change after 24 seconds,
36 seconds and 54 seconds respectively.
If they all change simultaneously at
10:15:00 AM, then at what time will they
again change simultaneously ? :
(A) 10:17:02 AM (B) 10:18:36 AM

IC) 10:16:54 AM (D) 10:22:12 AM

41. Choose the right answer, based on the
relationship given in the question.

Clasp : Bracelet
(A) Wrist : Watch (B) Cuff: Trouscrs
(C) Hook : Coat (D} Buckle : Belt

According to Comte the traditional
method of Sociology is
(A) Positivism

IC) Imperialism

Consider the following statements about
United Nations General Assembly (UNGA).
1. The United Nations General Assembly
(UNGA) is the main policy making organ
of the Organization,
. 2. Each of the 193 member States of the
~ United Nations has an equal vote.
~ |A) The statement 1 is correct
B) The statement 2 is correct

(B) Antipositivism
(D) Relativism

€] Both the statements 1 and 2 are correct
earned after selling an article for
754 is the same as loss incurred after
the article for Rs. 1,492, What is the
the article 7

. Rs. 1,523

Telegrgm-

432,

44;_;

/
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Af M s e d M I A r
i v A ¥ | 9 3 wofage Faai K e
q R gl v ven wren B, @ o @ g ae wna ¥ 20
R &HTET #

A
A} —= 2

VK (B)
(C) rK D) K
fifmeasm sdafamd

iA) e amfe o v =

(B) =fim sifm i v =

(C) witramd sft wemm =

(D) et smfeafh s 2fign s @

# wem-sem G wiftm w dRew ez W
24 BT, 36 098 ot 54 SR A W R TR A
wfl UF 779 10:15:00 AM W w== # A 3
et w @ 4 oo oy W 7
(A) 10:17:02 AM

IC) 10:16:54 AM

(B] 10:18:36 AM
(D) 10:22:12 AM

W | & o At F w3 |
FAT : EHR
iy o= . afa (B) W% : e
(C) ¥% : ¥ (D) o%a ; ¥z
FL & WHTRTIE o TRt

J-Trﬂ v
(A} FETOTRERATETE (B) wirrrasrTmEe
(C) HETER (D) WreER
g T werel (9,999 0, ) ¥ =i Pt
A o faan =t | ;

1. ¥ HETA (,04.5f.u, ) &
%ﬁ%ﬁqmt:&m U.) H933 1
2. HYH UG ¥ 193 57w 291 & 4 velrw w5 5
ara B

{A) F99 ] HET R

{B) 9 2 6 &

(C) *a 1 3 2 G4 wf) §
(D) I § & wié 7

U wE W E, 1,754 % ¥1 % 71 arfidn = m

THFE 1,492 F I Han ¥
3 e g g

Tar‘ﬁ'é‘f’Hss‘E:‘-H'ar}f'?n









The denominator of & rational number is
3 more than its numerator. If the nqm:mtqr
is increased by 7 and the denominator is
decreased by 2, we obtain 2. The rational

number is
1 —
A 3 B 3
T 8
n =t
€ 10 e 11

61. What is viability of seeds ?
{A) Presence of temperature
(B) Excretion in seeds
(C) Respiration of seeds
(D Presence of life in seeds

63. Under the Criminal Procedure Code, 1973,
the _____ can passany order to prevent
any miscarriage of justice or abuse of the
process in the Indian courts,

(A) District Court (B) Ciwvil Court
(C) High Court (D) Supreme Court

63. How many cuis are required to cut a cube
into 512 pieces 7
(A) 511
(B] 70
IC) 21
(D) Cannot be determined

C
Directions (Q. No. 64-66) : Study the given
information carefully and answer the questions
that follow :

I. Six friends P, Q, R, 8, T and U are members of
a club and play a different game of Football,
Cricket, Tennis, Basketball, Badminton and
Volleyball,

IL. T who is taller than P and S plays Tennis.
lI. The tallest among them plays Basketball.
IV. The shortest among them plays Volleyball
V. Q and S neither play Volleyball nor Basketball,
VI. R plays Volleyball.
VIL T is between Q who plays Football and P in

order of height,
64. Wﬂmhuﬂerﬂ!Mme
A Q
B) T
SR (D) None of these

CMES - g3

/ ﬁmmﬂﬂﬁmﬁa-ﬂﬁnﬁ q":-
o ) 7wy e g, 3l B R 2 T A
2w dan B | wftia e 2

5

A Sl 8
© D & e
10 11
j},/ﬂﬁﬁm{sﬁmm}ﬂ‘?}
() ammE @ 3feafa
(B) #ral o et
(C) et # ww

(D) it & St o Fufeafa
62. st 4% i@ wfem, 1973 # 77, .
P vt sl @ A fE o mireE @ af
' ¥ gowam w dw & fr W o s i =
wEad
(A) foren #rd (B) faferm w1
(C) T=a raTeE (D) Fqeftm =+
63. UF A ¥ 512 gHEl § WA * fop AT we =
srarEa k7
(A) 511
(B) 70
(C) 21
(D) Fratfa = faem an g
Pl (9. 4. 64-66) : 12 & 1 gum @ e A ofew o
Wt & 3w i |
Le: P QRS TN U s e ¥ gz # 3in
weate, ke, 2w, awkzata, defiz sh afefaia
weAd# |
ILTHpdsdsamae, Fmaame
11, 398 & wadt o arekzater derm # |
IV, 390 & w=8 B aieftaia gam )
V. Q 3l s 3 9t afelafa 3 @ andeafa d=a § )
VI. R afefrafe dem & |
VIL. T, Q =it iy @eren & 3t p 3 = #f $d ssgem &

64 VHARR-miRATm v pETIR 7
A Q B) T
(€) U (D) ¥ & wrf 7
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84. Consider the following statemens about
Socialism.

1. Socialism refers to a set of Political
ideas that emerged as a response to the
inequalities present in, and reproduced
by, the industrial capitalist economy.

2. The main concern of Socialism is how
to minimise existing inequality and
distribute resources justly,

(A) Only the statement 1 is correct

(B) Only the statement 2 is correct

(C) Both the statements | and 2 are correct
(D) None of the above

88. If with the 3, 4™, 5", 7" and 10™ letters of
the word ‘PERSONALITY" a meaningful word
is formed, then first letter of the word is
(A) O (B) T
© s ©) R

86. . - is commonly referred to the
stat hdng connected to the networked

mnﬂnm‘m:t

— (B) Online
(D) Browser
d : Kohima : : Manipur : ?
' (B) Shimla
(D) Guwahati
ry is also called as
ory (B) Main memory
ry [D] Virtual memory
ollowing sumuntu Iﬁmti

o
Indian SooOricIr

thachin

.ﬂf-

i :I l
- 1 5
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G} H-
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1. e e frard % v wﬁm
w1 ¥ i sheifir qefard sidsaen # AR
¥ 3% T e o wfafEn
ey avn B
2. wureAErE iy faaw
wagEm w %A wn e w

A w1 3fera faro 4 famn = |
(A) %4 1wt @
(B) %3 2 @it b
(C) #i e | a2 Wl B
D) 37w § § w1 79
"% 3, 4, 5 37 T 10
im‘iil;? s R, H’lﬂ‘l'ﬂlﬂ&
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. W A JEAgT Y o
Tz @ 2 T o ferfa @ waffa b
(A) SATHATS (B) #Hieme
(C) e (D) WEF
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mi_ma (B) fimem e
(C) O) TEd
Ha=al) Bt ot FEETe B | %
(A) wrged Feh (B) = T
(C) T AR (D) T e
fmm%“httﬁi
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